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Q.1 The compressive strength of concrete has unknown distribution with z=2500 psi and o =50 psi. A
* random sample of » = 50 specimens is selected, then:
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@ (b) Find the probability that the sample will have a sample mean diameter that falls in the interval
from 2499 psi to 2510 psi.
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Q2. The elasticity of a polymer is affected by the concentration of a reactant. When low concentration is
used, the true mean elasticity is 55, and when high concentration is used the mean elasticity is 60. The
standard deviation of elasticity is 4, regardless of concentration. If two random samples of size 30 are taken,
find the probability that P (X, — X, 25.5)
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